Calculus: Sine and the Graphing Calculator!
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Graph 6
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Same graph (Windows: (1)[-.1,.1],[-1000,1000] (2)[-.001,.001],[-107, 107])
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f(x) is even and limf(x) DNE (does not e

xist) as in Graph 5.

Just playing with different window sizes

, x-scale (xscl) and removing the y-axis

 from the plot.
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Graph 7
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Same graph (Windows: (1) Axes ON and [-.5,.5],[-.3,.3] xscl=.01 (2) Axes OFF
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f(x)sin is odd and limf(x)0 but f(0) is 

undefined. 

This is a 'removable discontinuity'. We 

could define g(x) piecewise as follows:

f(x) , x0

g(x) Now g(x) is continuous. 

0     , x=0
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Graph 8
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With Axes OFF can you see the…

Same Graph (Windows: (1) [-6,6],[-4,4] (2) [-.5,.5],[2,4])
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f(x) is even and limf(x)3 (Use L'Hospita

l's Rule  but don't forget the chain rul

e!

(sin3)3cos3sin3

cos3(3) and lim3lim, or note the gap in 

the graph?) 
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Again f(0) is undef
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ined. We could define g(x) piecewise as 

follows:

f(x) , x0

g(x) Now g(x) is continuous. 

3     , x=0
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